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1. Write the expression as a single logarithm.
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3. Solve for x. ﬁ,é;;; :
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d) Deterine f(x) 18 one to one function or not.
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Calculator is okay.
5. A car 1s expected to decrease in value at an average rate of 12% annually. If the car is worth $ 15000 now,
when would you expect it to be worth $6000?
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Notes: To prepare for the exam, study the Exit slips of cha #1, cha #1, cha #2, B3 questions of ¢h 3 and cha, and ilj:(* review sets. Do not expect
you will do fine without study. The exam is on Tuesday and covers both chapter 3 and chapter 4.



